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2013年度　本試験　英語(筆記)

【３】　

  次の問い(Ａ～Ｃ)に答えよ。

(配点  46)

Ａ  次の問い(問１・問２)の英文を読み，下線部の語句の意味をそれぞれの文章から推測し，  27  ・  28  に入れるのに最も適当なものを，それぞれ下の①～④のうちから一つずつ選べ。

問１  

Judy：
  Hi, Luke. Where’s Bob? I thought he wanted to help us clean up the beach.

Luke：
  I decided not to ask him to come.

Judy：
  Really? Why not?

Luke：
  He always thinks he should be the one to call the shots whenever we do anything like this. If someone suggests a different idea, Bob always ignores it or gets angry.

  In this situation, to call the shots means to   27  .

①  ask questions
②  avoid trouble

③  have control
④  make friends

問２  

  In my high school years, my friend and I felt that Mr. Bell was the epitome of a good high school PE teacher. He was not tall or well-built, but he was able to teach sports which often required a lot of strength and endurance. Furthermore, he had the ability to make us do our best and never give up. Even today I believe I have never met a better PE teacher.

  In this situation, the epitome of a good PE teacher is one who is the   28  .

①  athletic kind
②  perfect example
③  practical sort
④  strict type

Ｂ  次の英文は，アメリカのある町で住民が集まって，図書館駐車場横の空き地の利用法について議論している場面の一部である。  29  ～  31  に入れるのに最も適当なものを，それぞれ下の①～④のうちから一つずつ選べ。

Bob：
  OK. Let’s get started. I see we have well over a dozen people here to discuss what to do with the area next to the library parking lot. Would anyone like to start with some suggestions? . . . Yes, Jack?

Jack：
  I think there’s enough space for a small park with at least one tree, maybe two . . . and a lawn of beautiful green grass. Maybe we can put a bench there as well. Along one side, we could leave some space for flowers. The park could be an ideal place to sit and read a book.

Bob：
  That’s pretty much what I imagined, too ― a kind of miniature park that 
  29  .

①  can be used for community events

②  creates a comfortable and peaceful atmosphere

③  suits the architecture of the new library

④  would be a good place to park a car

Jack：
  That’s right.

Anne：
  But Jack, do you know how much money it would cost to do what you propose? We would need to hire somebody to take care of the flowers, trees, and lawn and also clean up the leaves.

Bob：
  So, Anne, what do you have in mind?

Anne：
  Well, last year my husband and I decided to change our lawn into a desert-style rock garden, so we hired an expert to make one for us. It looks great, but more importantly, doesn’t need much care.

Bob：
  So what you’re saying, Anne, is   30  .

①  a desert-style garden is better because it is more economical

②  a park with a lawn would help create jobs for residents

③  we can create a desert-style garden which looks professional

④  we have enough money to maintain a lawn and a garden

Jack：
  Anne, can you explain it in more detail?

Anne：
  Well, I’ve invited the person who designed our yard. This is Carol Jones. She can explain this better than I can.

Carol：
  Hello, everyone. We all know that we don’t get much rain here in the Southwest. A desert-style rock garden basically creates a scene we might see in deserts by using sand and rocks of various sizes and colors. It uses plants that don’t require much water, such as cactuses and other desert plants.

Jack：
  Hmmm. I have an image of deserts being really hot and uncomfortable, not relaxing.

Carol：
  It doesn’t have to be that way. We could choose a variety of rocks and plants. For instance, we could use rocks that are green and smooth pebbles from river bottoms to create a cooler impression. Some desert plants offer shade as well as beauty.

Anne：
  So, Carol and I think that   31  .

①  a rock garden cannot be as comfortable as a garden full of plants

②  a rock garden would go well with the atmosphere of the town

③  it is difficult to choose the right materials for a rock garden

④  it is possible to create a refreshing space with a rock garden

Bob：
  OK, so we have two choices so far: a rock garden, or the small park that Jack recommended. If there are no more suggestions, shall we take a vote?

Ｃ  次の文章の  32  ～  34  に入れるのに最も適当なものを，それぞれ下の①～④のうちから一つずつ選べ。

  The United States is a vast country. From the East Coast to the West Coast, there are four different time zones. In addition, many parts of the country observe daylight saving time (DST) as well. In areas that adopt DST, the clock is moved one hour forward for the summer. Thus, the local time varies across different areas of the country, depending on which time zone the area is in and whether DST is adopted.

  The state of Indiana, shown in the map below, is known for its   32  . For decades, both the Eastern Time Zone and Central Time Zone have existed within the state. Many areas in the state have switched back and forth between Eastern Time and Central Time. Furthermore, until very recently, policy concerning DST differed from one place to another. Most areas in the Eastern Time Zone did not adopt DST, and the time stayed the same throughout the year; while in other areas, where DST was adopted, the clock was moved forward by one hour for the summer. In 2006, however, the entire state started to observe DST.
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  Some have argued that the time system in Indiana   33  . For example, a company in Indiana once scheduled a phone conference with companies in other states. When the meeting started, only half of the out-of-state participants were on the line. This was because the participants who missed the conference did not know in which time zone the company was located.

  It is not easy to resolve this issue because being in a particular time zone has important consequences for Indiana residents. Local businesses may benefit from being in the Eastern Time Zone where the financial center of the entire country, Wall Street in New York City, is located. Meanwhile, this may not be convenient for residents in the western parts of Indiana who commute to major cities in the Central Time Zone, like Chicago, just across the state border.

  The controversy over time in Indiana was partly resolved in 2006, when the entire state started to observe DST.   34   This debate may continue as long as people living in different parts of the state have different needs.

  32  
①  complex time system that has been changed many times over the years

②  convenient time system that has attracted new businesses to the state

③  flexible time system that allows workers to choose their own working hours

④  traditional time system that is a good model for the rest of the country

  33  
①  discourages communication between government and businesses

②  harms local businesses working with companies outside of Indiana

③  is understood and accepted by companies in other areas of the country

④  strengthens relationships among businesses in the state and those elsewhere

  34  
①  However, residents agree that Indiana should adopt a single statewide time zone.

②  However, there is still disagreement about having two different time zones in the state.

③  Thus, this new change made the problem in the state more serious than before.

④  Thus, whether or not Indiana should have two time zones is no longer an issue.

【解答３】　

Ａ  

問１  ③
問２  ②
Ｂ  

(29)  ②
(30)  ①
(31)  ④
Ｃ  

(32)  ①
(33)  ②
(34)  ②
【解説３】(配点 46)

Ａ  語義推定問題  (10点)
正解:
  27    ③
  28    ②
ほとんどの受験生が知らない語句の意味を文脈から推測させる問題。①同義表現の反復，②具体例を述べた部分と要約部分の対応，③因果関係や逆接関係を表す語句(so，because，but，howeverなど)がカギとなる。
問１ 「この状況では，to call the shotsは(   27   )を意味する」

Lukeの最終文に示されているBobの行動の具体例から，③「すべてを仕切る」が正解。①「質問する」，②「面倒を避ける」，④「友達をつくる」

■全文訳
≪チームワークができない男≫

Judy：
  こんにちは，Luke。Bobはどこ？ 彼は浜辺掃除を手伝いたがってたと思うんだけど。
Luke：
  彼には頼まないことにしたんだ。
Judy：
  本当？  どうして？
Luke：
  彼は僕らがこういうことをするときいつも自分がすべてを仕切る役になるべきだと思ってる。誰かが違う意見を提案すると，Bobはいつも無視するか腹を立てるんだ。
問２ 「この状況では，優れた体育教師のepitomeとは(   28   )を意味する」

第2・3文にBell先生の体育教師としての有能ぶりが列挙されているので，②「模範」が正解。①「運動家タイプ」，③「実践的なタイプ」，④「厳格なタイプ」

■全文訳
≪理想の体育教師Bell先生≫

  高校生のころ，友人と私は，Bell先生は優秀な高校体育教師の模範だと感じていた。彼は長身でも体格が良いわけでもなかったが，かなりの体力・忍耐力を必要とされがちなスポーツを指導することができた。さらに，彼は私たちのやる気を引き出したり不屈の精神を持たせたりすることができた。今でも私は彼ほど優れた体育教師に出会ったことはないと思っている。

Ｂ  要旨選択問題  (18点)
正解:
  29    ②
  30    ①
  31    ④
特定のテーマをめぐる議論を素材とした内容一致問題。本文の内容と矛盾するものや本文に書かれていない内容の選択肢を消去法で消していけば，容易に正解が得られる。

  29   「それはまさに私が考えていたこと，つまり(   29   )一種の小型庭園とも一致します」

Jackの1回目の発言全文が，②「快適で平穏な雰囲気を創出する」と一致する。①「地域の催しに使える」，③「新しい図書館の建物に合う」，④「よい駐車場になる」

  30   「ではAnneさん，あなたがおっしゃっているのは(   30   )ということですね」
Anneの2回目の発言の最終文が，①「お金の節約になるので砂漠風庭園のほうがよい」と一致する。②「芝生のある公園は住民の雇用を創出するのに役立つ」，③「私たちはプロ仕様の砂漠風庭園を造ることができる」，④「私たちには芝生と庭園を維持するのに十分なお金がある」

  31   「だから，Carolと私は(   31   )と思っています」

Carolの1回目の発言の第3・4文と2回目の発言の最終文が，④「石庭で憩いの場を造ることができる」と一致する。①「石庭は植物が豊富な庭園ほど心地よいものにはならない」，②「石庭は町の雰囲気に合うだろう」，③「石庭にふさわしい素材を選ぶのは難しい」

■全文訳
≪空き地をどんな公園にするか≫

Bob：
  さて。では始めましょう。図書館の駐車場に隣接する空き地をどうするか議論するため，十数名の方にお集まりいただきました。どなたかご提案がある方はいらっしゃいますか？  …はい，Jackさん(いかがですか)？
Jack：
  私は，最低でも1本，あるいは2本の木と…それから美しい芝生を植えた小さな公園をつくるのに十分な広さがあると思います。ベンチを置くのもいいかもしれません。一辺は，花壇にすることもできます。その公園は座って読書をするのに理想的な場になるでしょう。
Bob：
  それはまさに私が考えていたこと，つまり( ② 快適で平穏な雰囲気を創出する )一種の小型庭園とも一致します。
Jack：
  そのとおりです。
Anne：
  でもJackさん，あなたの提案を実行するのにどれだけの費用がかかるかご存知ですか？  花や木や芝生の手入れと落ち葉清掃のために人を雇う必要があるでしょう。
Bob：
  では，Anneさん，あなたのお考えは？
Anne：
  ええ，去年，夫と私はうちの芝生を砂漠風の石庭に変えることに決め，専門家を雇って造ってもらいました。見栄えがいいですし，何より，あまり手間がかかりません。
Bob：
  ではAnneさん，あなたがおっしゃっているのは( ① お金の節約になるので砂漠風庭園のほうがよい )ということですね。
Jack：
  Anneさん，もう少し詳しく説明していただけますか？
Anne：
  ええ，うちの庭を設計した方をお招きしました。Carol Jonesさんです。私よりも彼女のほうがきちんと説明できます。
Carol：
  皆さん，こんにちは。ご承知のとおりここ南西部ではあまり雨が降りません。砂漠風の石庭は砂とさまざまな大きさや色の岩を用いることによって砂漠で見かけるような風景を創出します。(また，)サボテンや他の砂漠植物のような，あまり水を必要としない植物を使います。
Jack：
  ふーん。砂漠にはとても暑く不快で，くつろげない印象がありますが。
Carol：
  必ずしもそうではありません。いろいろな岩や植物が選べます。例えば，涼しげな印象を創り出すために緑色の岩や川底の丸石を使うことができます。砂漠植物は美しさだけでなく日陰も提供してくれますよ。
Anne：
  だから，Carolと私は( ④ 石庭で憩いの場を造ることができる )と思っています。
Bob：
  わかりました，では今までのところ，石庭と，Jackさん提案の小さな公園という2つの選択肢があります。もし他に提案がなければ，採決しましょうか？
Ｃ  適文補充問題  (18点)
正解:
  32    ①
  33    ②
  34    ②
文脈把握力を問う空所補充問題。①文と文の意味関係を表す語句(for example，in addition，so，because，howeverなど)，②指示語，③英語の文章展開パターン(要約文の後に具体説明や理由説明が続くことが多い)がカギとなる。
  32    空所が第1文にあるときは，その文を要約文と仮定して以降の文を見る。第2文以降では時刻制度の並存について述べられているので，正解は①「ここ何年かの間で何度も変わった複雑な時刻制度」。②「州内に新規産業を呼び込んだ便利な時刻制度」，③「労働者が自分で労働時間を決められる柔軟な時刻制度」，④「他の州の模範となる伝統的な時刻制度」

  33    空所を含む第1文の直後に具体例を予告するFor exampleがあるので，正解は②「州外の会社と仕事をしている地元企業に悪影響を与える」。①「政府と企業の間の意思疎通を阻害する」，③「(アメリカ)国内の他の地域の企業に理解されて受け入れられている」，④「州内外の企業間の関係を強化する」

  34    空所の前後で文の内容が矛盾していることから，逆接語を含む文が入ると予測できる。第3文の指示語This debateはdisagreement about having two different time zonesを指すので，正解は②「しかし，州内に2つの異なる標準時を抱えることについては今も意見の相違がある」。①「しかし，住民たちはインディアナ州全域にわたる単一の標準時を適用することに賛成している」，③「こうして，この新しい変化は州の問題を一層深刻にした」，④「したがって，インディアナ州が2つの標準時を持つべきかどうかはもはや問題ではない」

■全文訳
≪複数の標準時に悩むインディアナ州≫

  アメリカ合衆国は広大な国である。東海岸から西海岸までの間に，4つの異なる標準時が存在する。加えて，多くの地域にはサマータイム(DST)もある。DSTを採用している地域では，夏の間は時計が1時間早まる。それゆえ，現地時間は属する標準時とDSTの採用有無によって各地域で異なる。
  下の地図にあるインディアナ州は，その( ① ここ何年かの間で何度も変わった複雑な時刻制度 )で知られている。何十年間も，同州には東部標準時と中央標準時が並存している。インディアナ州の多くの地域は前者と後者を行き来してきた。さらに，つい最近まで，DSTに関する方針も地域ごとにまちまちだった。東部標準時に属すほとんどの地域はDSTを採用しなかったため，時間は年間を通して同じであったが，その一方，DSTを導入した他の地域では夏期は時計が1時間早められた。しかし，2006年に(インディアナ)州全体がDSTを導入し始めた。

(地図)
  一部の人はインディアナ州の時刻制度は( ② 州外の会社と仕事をしている地元企業に悪影響を与える )と論じた。例えば，インディアナ州のある会社が，あるとき他の州の会社と電話会議の予定を組んだ。(しかし，)会議が始まったとき，州外の参加予定者の半分にしか電話が繋がらなかった。これは，その会社が属す標準時がどちらなのかを彼ら(欠席者たち)が知らなかったせいである。
  州全体が特定の標準時に属すと州の住民に大きな影響が出るため，この問題を解決するのは容易でない。地元企業はアメリカ全体の金融の中心であるニューヨーク・ウォール街を擁する東部標準時に属すことで恩恵を得るかもしれない。その一方で，このことは隣接するシカゴなど中央標準時に属す大都市へ通勤する州西部の住民にとっては不便かもしれない。
  インディアナ州の時間をめぐる議論は，州全体がDSTを導入した2006年に一部解決した。( ② しかし，州内に2つの異なる標準時を抱えることについては今も意見の相違がある。) この議論は人々が地域ごとに異なる要求を持つ限り続くかもしれない。
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